



OFFICE OF THE CITY MANAGER



TO: Honorable Mayor and Members of the City Council
FROM: Patrick Urich, City Manager 
DATE: August 7, 2015
SUBJECT: Issues Update

The following are issues related to the City for the weekly Issues Update. If there are additional items you believe should be included, please let me know.

Economic Development—Peoria Wins \$25,000 Startup

The City of Peoria’s commitment to help & grow startup businesses received a boost after receiving notice of a \$50,000 award from the U.S. Small Business Administration (SBA). The “Startup in a Day” initiative is a collaboration between the City of Peoria, Peoria County, Startup Peoria, & the Greater Peoria Economic Development Council. For more information, please see the attached release or contact Cesar Suarez, Senior Development Specialist, at (309) 494-8645 or csuarez@peoriagov.org

Community Development—Grants—Glendale Commons

On Friday, July 31, 2015, after an almost three year preservation and development effort by the City, South Side Office of Concern (SSOC) and other community partners, the Glendale Commons project was finalized. Please see the attached release & rendering for more information. For more information regarding the Glendale Commons project, please contact Nicole Frederick, Grants Manager, at (309) 494-8606 or nfrederick@peoriagov.org.

Community Development-Faces of the East Bluff Family Fun Event

Please see the attached document for details about the Faces of the East Bluff family fun event, held on July 31. Visitors were treated to bouncy houses, games and food and drink served by city staff and employees of Associated Bank and many of the residents featured in the mural were on hand.

Peoria Celebrates in the National Night Out Against Crime

On August 4, over 30 neighborhoods organized events celebrating the National Night Out Against Crime. From face painting to the Pulses of Peoria drumline, citizens celebrated their communities. For more pictures from East Bluff, Goose Lake, Knoll Crest, Olde Towne South, Spring Grove, Altamont Park, Center Bluff and Columbia Terrace North, check the City of Peoria facebook page.

Issues Update
August 7, 2015

Friends of Friedrichshafen

On Tuesday, August 4, Proclamations were given to the visitors from the Friends of Friedrichshafen Youth exchange. They stopped by on their tour of Peoria and the surrounding areas. For more information on this sister city relationship, visit:

peoriasistercity.org



Code Violation Cases

The list of code violation cases scheduled for August 11 is attached.

ECC Monthly Report July 2015

Please see the attached report from the Emergency Communications Center.

ECC Performance Dashboard YTD 2015

Please see the attached report on the year to date data from the Emergency Communications Center.

Site Plan Review Board Agenda

Please see the attached agenda. Comments are due August 10.

Zoning Board of Appeals Agenda

Please see the attached agenda for the August 13, 2015 meeting.



Peoria Wins SBA's Startup in a Day Competition

Peoria, IL (August 5, 2015) The City of Peoria's commitment to help and grow startup businesses received a boost after receiving notice of a \$50,000 award from the U.S. Small Business Administration (SBA) as part of SBA's inaugural "competition. "On behalf of the City, I want to thank the SBA for the grant," said Mayor Jim Ardis. "We look forward to transforming the way we serve our business community to help entrepreneurs startup and grow their business" he added.

The "Startup in a Day" initiative is a collaboration between the City of Peoria, Peoria County, Startup Peoria, and the Greater Peoria Economic Development Council. Designed to assist entrepreneurs in establishing their businesses within 24 hours, this program addresses two key obstacles that businesses often cite; obtaining permits and licenses and finding business development resources. This initiative also includes a focus on developing minority-owned business enterprises.

Jake Hamann, Co-Founder of Startup Peoria commented, "Being awarded this grant is a testament to how collaboration across the community can help drive and implement positive change for our entrepreneurial ecosystem. Our region has tremendous potential and I believe that we can use this opportunity as a catalyst to take it to the next level."

Jennifer Daly, CEO of the Greater Peoria Economic Development Council, expressed, "We are looking forward to working as a key partner to support new business startups in Greater Peoria. Not only will this project simplify the startup process, but it will also allow our team to better identify and connect entrepreneurs with resources and networks critical to their future success."

Peoria County Board Chairman Andrew Rand agreed, "The Startup in a Day Grant will be an important catalyst to help Peoria's minority businesses and entrepreneurs get a leg up to grow their business and create local jobs. Peoria County is excited to work with our grant partners on this exciting opportunity."

The SBA reviewed more than 100 applications and awarded grants to 25 cities to help develop a streamlined, centralized business formation platform. "This is a big win for our community and area entrepreneurs. We work with many startup companies each year and this will make their process of starting their business even easier," said Ross Miller, Director of the Illinois Small Business Development Center at Bradley University.

"When I started my businesses, it was overwhelming," said Administrator Maria Contreras-Sweet, head of the SBA and member of President Obama's Cabinet. "I had to set up a legal structure, find office space, learn local zoning laws, apply for multiple licenses and permits and navigate a maze of city, county, state and federal requirements before I could even open my doors. That's why I'm proud to join the White House in announcing the winners of the Startup in a Day prize competition as we work to make it easier for entrepreneurs all across the country to get started."

For any questions regarding Peoria's "Startup in a Day" initiative, contact Cesar Suarez, Senior Development Specialists (csuarez@peoriagov.org or 309/494-8645).

Issues Update – Glendale Commons

On Friday, July 31, 2015, after an almost three year preservation and development effort by the City, South Side Office of Concern (SSOC) and other community partners, the Glendale Commons project was finalized.

Glendale Commons is a 28-unit supportive housing project focusing on low-income households and on those at-risk for homelessness or suffering from serious and persistent mental illness and/or developmental disabilities. The project will be located at the corner of the 700 block of Wayne, 800 block of NE Glendale and the 700 block of Morgan (the existing Glen Perry/Glen Mor Development Site; previously operated by the YWCA of Peoria). The project includes the acquisition of the sites, demolition of the existing units, and the construction of 16 new units, in an apartment building (14 units) and a 2-unit duplex. There are six existing duplexes that will be renovated as well as one new duplex and a 14-unit three-story elevator building that will be newly constructed. Six of the units will be set aside for the Illinois Housing Development Authority (IHDA) State Referral Network Program. The apartment building will include one, two and three bedroom units, a community room and laundry facilities, as well as offices for on-site supportive services administered by SSOC.

In 2003 and 2004, during the construction and rehabilitation of the Glen Perry/Glen Mor Development, City Council approved the allocation of federal HUD HOME funds to the YWCA in the total amount of \$647,248. Per federal regulations, the investment of HOME funds to the project imposes a 20 year affordability period - expiring in December 2028. To comply with the HOME Affordability Period requirements for the Glen Perry/Glen Mor Development, City staff certifies tenant's income annually, reviews tenant lease agreements and conducts property inspections every other year. HOME regulations state that non-compliance of a project's affordability period could result in repayment of funds back to HUD. The amount of repayment would be equal to the total of HOME fund investment and would have to come from local revenue sources. In the case of Glen Perry/Glen Mor, a total of \$647,248 could be due back to HUD if the affordability period ceases compliance.

SSOC took over the property management of the existing buildings in October 2012, when the YWCA of Peoria had financial difficulties and ceased operations. The City's continued compliance with the HOME affordability period was compromised when the YWCA ceased operations. Upon assuming the Glen Perry/Glen Mor project from the YWCA, SSOC partnered with the City to protect its HOME investment. SSOC has adhered to the provisions of the HOME affordability period originally imposed on the property by the YWCA grant award.

Since October 2012, SSOC has ushered the project through two separate bank foreclosure processes, YWCA bankruptcy proceedings, City Commission and Council meetings and multiple funder applications all while maintaining the property and services to existing and new tenants. On July 31, 2015, SSOC became the property owner of the properties included in the Glendale Commons project as well as receiving approximately \$4.4 million in funding from Illinois Housing Development Authority (IHDA), Federal Home Loan Bank (FHLB) and other funding sources.

Construction will begin in late August. The Glendale Commons project is truly an example of community partnership to preserve and develop affordable housing for the most vulnerable in our City.

For more information regarding the Glendale Commons project, please contact Nicole Frederick, Grants Manager, at (309) 494-8606 or nfrederick@peoriagov.org.



FACES OF THE EAST BLUFF GALLERY ART AND FAMILY FUN EVENT

Friday, July 31, 2015



A beautiful Friday afternoon was spent with City staff, staff from Associated Bank, East Bluff residents, and celebrities from the Faces of the East Bluff public art initiative. This provided another opportunity to show off the Faces of the East Bluff artwork in the form of a gallery-style art exhibit. With the addition of snow cones, cotton candy, popcorn, and games, this made for a fun event for the whole family. This art exhibit, and associated event, was made possible through a grant from Associated Bank.





NUMBER OF CASES 172

PAID	LEGAL CASE	ONESOLUTION NO	DEFENDANT	PROPERTY ADDRESS	PRE-HEARING FINE AMOUNT	INSPECTOR	DISPOSITION
X	15-CV-1212	15-7107	201 MORTON ST. LLC	1034 NE ADAMS ST	\$50	AE	DISMISSED - PAID ON 7/10/15
	15-CV-1470	15-8287	ANDERSON, PAUL	909 E NEBRASKA AVE	\$50	DG	
X	15-CV-1443	15-8035	ANDERSON, RICHARD	2208 NE MONROE ST	\$150	BB	DISMISSED - PAID ON 7/16/15
	15-CV-1498	15-8356	ANDRADA, WILMER	805 E RUSSELL	\$100	LE	
	15-CV-1598	15-8678	ANDRADA, WILMER	1808 S LARAMIE ST	\$50	SCA	
	15-CV-1599	15-8680	ANDRADA, WILMER	1527 S ARAGO ST	\$50	SCA	
	15-CV-1600	15-8684	ANDRADA, WILMER	1631 S LIVINGSTON ST	\$150	SCA	
	15-CV-1601	15-8686	ANDRADA, WILMER	2923 W AUGUSTANA ST	\$300	SCA	
	15-CV-1602	15-8687	ANDRADA, WILMER	2700 W MONTANA ST	\$100	SCA	
	15-CV-1603	15-8690	ANDRADA, WILMER	2508 W GARDEN ST	\$100	SCA	
	15-CV-1451	15-8136	ARCHDALE, DANIEL & KIM	2411 N DECHMAN AVE	\$150	BB	DISMISSED - PER BRADY ON 7/14/15
X	15-CV-1320	15-7611	BAILEY, SCOTT	1804 N GALE AVE	\$50	DG	DISMISSED - PAID ON 7/9/15
X	15-CV-1242	15-7198	BAKIRDAN, NEZIDE	1231 E MAYWOOD AVE	\$50	PM	DISMISSED - PAID ON 6/29/15
	15-CV-1438	15-8030	BANKS, MICHAEL	1608 W COLUMBIA TERR	\$7,500	BB	
	15-CV-1426	15-7685	BARCLAY, JILL	1102 E WILLCOX AVE	\$150	PM	
	15-CV-1440	15-8031	BARKER, NATHAN	1524 NE STARR TERR	\$150	BB	
	15-CV-1359	15-7791	BARKER, NATHAN	1524 NE STARR TER	\$100	PM	
X	15-CV-1428	15-7711	BELLEMEY, CHARLES	1612 N. MISSOURI AVE	\$50	TA	DISMISSED - PAID ON 7/16/15
	15-CV-1365	15-7783	BOLLIS, TIMOTHY	1116 NE MONROE ST	\$50	AE	
	15-CV-1252	15-7253	BROWN, DERRICK	1715 S ARAGO ST	\$150	BB	1ST APPEARANCE - 7/21/15; 1ST APPEARANCE CONTINUED TO 8/11/15
	15-CV-1383	15-6904	BRUGGEMAN, EDWIN	2416 N CENTRAL AVE	\$50	PM	
	15-CV-1456	15-8164	BULLOCK, ROBERT & SHELLEY	1223 N FRINK ST	\$7,500	BB	
	15-CV-1313	15-7616	BUNDY, CYNTHIA	2206 NE MADISON AVE	\$100	AE	
X	15-CV-1297	15-6994	BUSHONG, JANELL	827 NE GREENLEAF ST	\$50	AE	DISMISSED - PAID ON 7/30/15
X	15-CV-1248	15-7205	BUSWELL, GREGORY	720 GREEN ST	\$50	AE	DISMISSED - PAID ON 7/16/15
	15-CV-1370	15-7880	CARLSON, DAVID	2408 NE MONROE ST	\$50	AE	
	15-CV-1447	15-8122	CENTRAL ILLINOIS MANAGEMENT INC	416 VINE ST	\$150	BB	
	15-CV-1448	15-8127	CENTRAL ILLINOIS MANAGEMENT INC	300 E MELBOURNE AVE	\$150	BB	
	15-CV-1449	15-8129	CENTRAL ILLINOIS MANAGEMENT INC	2429 W PROCTOR ST	\$150	BB	
	15-CV-1280	15-6909	CHASE, BERNARD	1613 NE JEFFERSON AVE	\$50	AE	DISMISSED - OWNER IS D'CSD
X	15-CV-1102	15-6362	CHENG, YIN	8709 N EAST CT	\$100	KS	DISMISSED - PAID ON 7/24/15
X	15-CV-1040	15-6151	CHRONISTER OIL COMPANY	1400 SW ADAMS ST	\$50	KS	DISMISSED - PAID ON 6/19/15
X	15-CV-1283	15-7276	COBRO INC.	3801 N ASHTON AVE	\$50	PM	DISMISSED - PAID ON 7/23/15
	15-CV-1441	15-8032	COBRO, INC.	3801 N ASHTON AVE	\$150	BB	DISMISSED - PER BRADY ON 7/30/15
	15-CV-1314	15-7621	COHEN, JEFF	202 VAN BUREN ST	\$100	AE	
	15-CV-1375	15-7807	COHEN, JEFF	1005 W MACQUEEN AVE	\$50	PM	
X	15-CV-1366	15-7785	CONSOLIDATED PROPERTIES	1110 NE MONROE ST	\$50	AE	DISMISSED - PAID ON 7/31/15
X	15-CV-1158	15-6389	CONSOLIDATED PROPERTIES	1104 E KANSAS ST	\$50	PM	DISMISSED - PAID ON 7/31/15
X	15-CV-1323	15-7599	CONSOLIDATED PROPERTIES	2623 N PROSPECT RD	\$50	PM	DISMISSED - PAID ON 7/31/15
X	15-CV-1434	15-7973	CONSOLIDATED PROPERTIES	2623 N PROSPECT RD	\$100	PM	DISMISSED - PAID ON 7/31/15
	15-CV-1423	15-8187	CORDELL, BETTY	720 W ARMSTRONG	\$100	LE	
	15-CV-1279	15-7294	CRAUDER, WAYNE	612 VINE ST	\$50	AE	
	15-CV-1311	15-6709	DAVIS, KAMARA	2401 N SHERIDAN RD	\$50	DG	
X	15-CV-1316	15-7626	DEWITTE, MICHAEL	521 ALEXANDER AVE	\$50	AE	DISMISSED - PAID ON 7/13/15
	15-CV-1362	15-7768	DIES, TERRI	1422 NE GLENDALE AVE	\$50	AE	
	15-CV-1293	15-7415	DISHMAN, AMY	711 HAUNGS AVE	\$50	AE	
	15-CV-1433	15-7966	ELIAS, FRED	1109 E GIFT AVE	\$100	PM	
	15-CV-1446	15-8116	ELIAS, STEVE & JULIA	1011 N GLENWOOD AVE	\$150	BB	

	15-CV-1472	15-8241	FADY, PAMELA	1713 N BESTOR ST	\$200	TA	
	15-CV-1506	15-8388	FORD, JOHN	2027 W RICHWOODS BLVD	\$50	DG	
	15-CV-1317	15-7630	FORD, RONALD	1102 NE JEFFERSON AVE	\$50	AE	
X	15-CV-1241	15-6659	FRAKES, MARCIA	1217 E SENECA PL	\$50	PM	DISMISSED - PAID ON 7/27/15
	15-CV-1382	15-7858	FRASCO, BRIAN	2322 N SHERIDAN RD	\$50	DG	
X	15-CV-1235	15-7099	FREDERICKS, ROBERT	908 E KANSAS ST	\$100	PM	DISMISSED - PAID ON 7/9/15
X	15-CV-1351	15-7745	GAMA, FRANCISCO	2124 N BOURLAND AVE	\$50	DG	DISMISSED - PAID ON 7/27/15
	15-CV-1355	15-7316	GANESH LIMITED	724 E THRUSH AVE	\$50	TA	
X	15-CV-1421	15-8189	GARCIA, NORMA	919 W RUSSELL ST	\$50	LE	DISMISSED - PAID ON 7/24/15
	15-CV-1161	15-6858	GHANTOUS, ELIAS	3037 N PROSPECT RD	\$50	PM	
X	15-CV-1250	15-7106	GHANTOUS, ELIAS	809 E MCCLURE AVE	\$100	PM	DISMISSED - PAID ON 7/2/15
	15-CV-1234	15-7095	GILLEN, BILLY	3020 N DELAWARE ST	\$50	PM	
	15-CV-1424	15-7703	GILLEN, BILLY J	3020 N DELAWARE	\$100	PM	
X	15-CV-1482	15-7879	GUERRERO, JOSE	305 E THRUSH AVE	\$50	TA	DISMISSED - PAID ON 7/21/15
	15-CV-1307	15-7518	GUYMON, ANDREW	524 SPITZNAGLE AVE	\$50	AE	
X	15-CV-1427	15-7682	HANCHETT, RICHARD	805 E BEHREND	\$50	PM	DISMISSED - PAID ON 7/20/15
	15-CV-1495	15-8358	HARBOUR PORTFOLIO VIII LP	1221 N BOURLAND AVE	\$150	LE	
X	15-CV-1393	15-8112	HARRIS, CORRY	1817 W AYRES AVE	\$50	LE	DISMISSED - PAID ON 7/28/15
X	15-CV-1173	15-6588	HARRISON, THOMAS	1204 E VIRGINIA AVE	\$50	PM	DISMISSED - PAID ON 6/23/15
	15-CV-1430	15-7950	HART, STANLEY	1103 E KANSAS ST	\$50	PM	
X	15-CV-1368	15-7887	HAWKINS, GINA	712 NE GLENDALE AVE	\$50	AE	DISMISSED - PAID ON 7/16/15
	15-CV-1170	15-5314	HENNING, ROBT III	1304 W JOHN H GWYNN JR AVE	\$50	GW	1ST APPEARANCE - 7/21/15; 1ST APPEARANCE CONTINUED 8/11/15
	15-CV-1292	15-7406	HERNANDEZ, DIANA	619 HAUNGS AVE	\$50	AE	DISMISSED - RESPONDENT NOT THE OWNER
	15-CV-1450	15-8131	HOARD, ROBERT	2018 N ATLANTIC AVE	\$150	BB	
	15-CV-1268	15-7358	HOFFMAN, KAREL & NATHAN	810 E MCCLURE AVE	\$150	BB	1ST APPEARANCE - 7/21/15; 1ST APPEARANCE CONTINUED 8/11/15
	15-CV-1060	15-5290	HOOGLAND, CHARLES	1326 SW JEFFERSON AVE	\$50	KS	
	15-CV-1061	15-6311	HOOGLAND, CHARLES	310 MACARTHUR HWY	\$50	KS	
	15-CV-1062	15-6316	HOOGLAND, CHARLES	1322 SW MEYER AVE	\$50	KS	
	15-CV-1107	15-6512	HOWELL, TAMMI	406 WAYNE ST	\$50	AE	1ST APPEARANCE - 7/21/15; 1ST APPEARANCE CONTINUED TO 8/11/15
	15-CV-1319	15-7639	HUNT, CHELSIE	1512 NE GLENDALE AVE	\$50	AE	
	15-CV-1281	15-6903	IMMEDIATE REALTY INC.	1608 NE MADISON AVE	\$100	AE	
	15-CV-1295	15-6995	IMMEDIATE REALTY INC.	1412 NE MONROE ST	\$50	AE	
	15-CV-1412	15-8047	JENKINS, AZZIE L	2626 N DECHMAN AVE	\$50	LA	
	15-CV-1209	15-7130	JENKINS, JOSEPH	809 NE PERRY AVE	\$50	AE	DISMISSED - RESPONDENT D'CSD
	15-CV-1275	15-7232	JOHNSON, GIL	1427 E LONDON AVE	\$100	PM	
	15-CV-1377	15-7855	JOHNSON, GIL	1427 E LONDON AVE	\$100	PM	
X	15-CV-1305	15-7290	JOHNSON, JOSEPH	4607 N EDGEBROOK DR	\$100	KS	DISMISSED - PAID ON 7/31/15
	15-CV-1174	15-6822	JOHNSON, REN	2319 N ATLANTIC AVE	\$50	PM	DISMISSED - UNABLE TO GET NOTICE OF VIOLATION AND HEARING SERVED
	15-CV-1200	15-6969	JPC PROPERTIES LLC	721 E KANSAS ST	\$150	BB	1ST APPEARANCE - 7/14/15; 1ST APPEARANCE CONTINUED TO 8/11/15; DISMISS - PER BRADY ON 7/22/15
X	15-CV-1246	15-7220	JUDD, TAMMIE	512 PHELPS ST	\$50	AE	DISMISSED - PAID ON 7/8/15
X	15-CV-1604	15-8694	KASHYAP, LINDSAY	408 W MAYWOOD AVE	\$100	SCA	DISMISSED - PAID ON 7/31/15
X	15-CV-1327	15-7660	KHAN, MOHAMMED	4001 W HILLMONT RD	\$50	KS	DISMISSED - PAID ON 7/13/15
	15-CV-1431	15-7953	KYLE A RHODERICK TRUST	1020 E NEBRASKA AVE	\$100	PM	

	15-CV-0505	15-2880	LACH, ROBERT	606 HOMESTEAD AVE	\$300	NR	1ST APPEARANCE - 6/9/15; REVIEW 6/23/15; REVIEW - 7/14/15; REVIEW - 7/21/15; REVIEW - 7/28/15; REVIEW - 8/11/15
	15-CV-1367	15-7792	LARSON, GARY	723 E BEL AIRE CT	\$50	TA	
X	15-CV-1315	15-7622	LEAR, ARACELI	2518 NE MADISON AVE	\$100	AE	DISMISSED - PAID ON 7/17/15
	15-CV-1277	15-7238	LIETER, MICHAEL	1007 W MACQUEEN AVE	\$100	PM	DISMISSED - PER PATTI ON 7/13/15
	15-CV-1309	15-7503	LINSLEY, JACQUELYN	2417 N BIGELOW ST	\$50	LA	
	15-CV-1454	15-8161	LOVELY, LAURA	1425 E TRIPP AVE	\$7,500	BB	
X	15-CV-1445	15-8110	MAIN STREET PROPERTIES INC.	3623 N STERLING AVE B17	\$150	BB	DISMISSED - PAID ON 7/15/15
	15-CV-1496	15-8362	MAJORS, RICHARD	1207 N FRINK ST	\$100	LE	
	15-CV-1453	15-8159	MANN (SCHUCK), SHIRLEY	1207 E NEBRASKA AVE	\$250	BB	
	15-CV-1036	15-6304	MARTIN, MICHAEL	822 W GIFT AVE	\$50	DG	1ST APPEARANCE - 7/21/15; 1ST APPEARANCE CONTINUED 8/11/15
	15-CV-1432	15-7956	MAYS, DORA	1018 E NEBRASKA AVE	\$100	PM	
	15-CV-1371	15-7876	MCCLELLAN, DEBRA	117 NE LAKE VIEW AVE	\$100	AE	
X	15-CV-1452	15-8139	MCGHEE, KEVIN	1203 E REPUBLIC ST	\$150	BB	DISMISSED - PAID ON 7/31/15
	15-CV-1282	15-7274	MCKENNA, ROGER	2323 N CENTRAL AVE	\$50	PM	
	15-CV-1455	15-8163	MESSIAH PROPERTIES LLC	1112 NE GLENDALE	\$250	BB	
	15-CV-1211	15-7123	MEZA, LOU	1105 NE JEFFERSON AVE	\$50	AE	
X	15-CV-1318	15-7632	MEZA, LOU	1105 NE JEFFERSON AVE	\$100	AE	DISMISSED - PAID ON 7/14/15
	15-CV-1321	15-7618	MIDLAND TRUST	1113 NE GLEN OAK AVE	\$50	PM	
X	15-CV-1374	15-7359	MINI, CHARLES	1003 E FAIROAKS AVE	\$50	PM	DISMISSED - PAID ON 7/31/15
X	15-CV-1160	15-6834	MONGE, BRIAN	916 E SENECA PL	\$50	PM	DISMISSED - PAID ON 7/31/15
X	15-CV-1278	15-6817	MONGE, BRIAN	2412 N WISCONSIN AVE	\$100	PM	DISMISSED - PAID ON 7/6/15
	15-CV-1274	15-7373	MORRISSEY, LINDA	3703 N GRAND BLVD	\$50	PM	
	15-CV-1238	15-6703	NATH, SYLVIA	825 E MCCLURE AVE	\$100	PM	
X	15-CV-1373	15-7845	NATH, SYLVIA	825 E MCCLURE AVE	\$100	PM	DISMISSED - PAID ON 7/15/15
	15-CV-1396	15-8074	NAVARRO, PABLO	1028 N MAPLEWOOD AVE	\$50	LE	
	15-CV-1291	15-6913	NORRIS, RICKEY	512 CORNHILL ST	\$100	AE	
	15-CV-1247	15-7211	NORTHSIDE HOUSING SERVICE	1311 NE MONROE ST	\$50	AE	
	15-CV-1352	15-7636	OROZCO, FELIPA	1111 NE JEFFERSON AVE	\$50	AE	
	15-CV-1265	15-7269	OYLER, THOMAS	3205 N MOLLECK DR	\$150	BB	1ST APPEARANCE - 7/21/15; 1ST APPEARANCE CONTINUED 8/11/15
	15-CV-1469	15-8234	PAPENDICK, TODD	412 W DOUBET CT	\$50	DG	
	15-CV-1425	15-7679	PARIS, ORVAL	810 E BEHREND'S AVE	\$50	PM	
	15-CV-1360	15-7788	PAVER, WESLEY F	1419 NE GLENDALE AVE	\$100	PM	
	15-CV-1312	15-7620	PEMBER, LARRY	1918/1920 N DECHMAN AVE	\$50	TA	
	15-CV-1199	15-6967	PEORIA OPPORTUNITIES FOUNDATION	1611 N WISCONSIN AVE	\$150	BB	DEFAULT - 7/14/15 \$300; MOTION TO VACATE - 7/21/15; DEFAULT VACATED; REVIEW - 8/11/15
	15-CV-1251	15-7132	PEORIA OPPORTUNITIES FOUNDATION	2408 N DELAWARE ST	\$150	BB	1ST APPEARANCE - 7/21/15; REVIEW - 8/11/15
X	15-CV-1363	15-7775	PIERCE, JEFFERY	1121 NE MADISON	\$50	AE	DISMISSED - PAID ON 7/13/15
	15-CV-1444	15-8102	PROFILE COLLEGIATE PROPERTIES LLC PEORIA PROPERTY SERIES C/O BUSEY BANK	414 W ELIZABETH ST	\$150	BB	
	15-CV-1244	15-7226	QUAD CITY CONSOLIDATED LLC	2520 NE MADISON AVE	\$50	AE	
	15-CV-1369	15-7883	QUINTERO, JESUS	610 MORTON ST	\$50	AE	
	15-CV-1376	15-7830	RAINS, JESSAMYN F.	1007 W MACQUEEN AVE	\$50	PM	
X	15-CV-1422	15-8186	RAY'S REALTY LLC	1010 N ELMWOOD AVE	\$50	LE	DISMISSED - PAID ON 7/20/15
	15-CV-1357	15-7779	REDDIC, HAROLD	717 W HANSSLER	\$50	DG	

X	15-CV-1290	15-7242	REGALADO, RAFAEL	512 MORGAN ST	\$50	AE	DISMISSED - PAID ON 7/17/15
	15-CV-1410	15-7901	REYES, MAYRA	723 E LASALLE ST	\$50	TA	
	15-CV-1429	15-7569	RIANS, GERALD	419 E ARCADIA	\$50	TA	DISMISSED - RESPONDENT D'CSD
X	15-CV-1210	15-7126	ROBERTSON, JACK	1109 NE JEFFERSON AVE	\$50	AE	DISMISSED - PAID ON 7/17/15
	15-CV-1361	15-7771	ROBINSON, DAWN	1509 NE GLENDALE AVE	\$50	PM	
X	15-CV-1308	15-7469	RODERICK, JILL	2723 N MISSOURI AVE	\$50	LA	DISMISSED - PAID ON 7/24/15
X	15-CV-1394	15-8080	ROYER, THOMAS	1605 W BARKER AVE	\$100	LE	DISMISSED - PAID ON 7/20/15
	15-CV-1439	15-7939	RUSSELL, RUTH	1822 NE MADISON	\$150	BB	
X	15-CV-1276	15-7235	SALEM, SALEM	1426 E LONDON AVE	\$50	PM	DISMISSED - PAID ON 7/6/15
X	15-CV-1378	15-7854	SALEM, SALEM	1426 E LONDON AVE	\$50	PM	DISMISSED - PAID ON 7/20/15
X	15-CV-1597	15-8674	SAM PROPERTY GROUP LLC	1618 W SMITH ST	\$100	SCA	DISMISSED - PAID ON 7/31/15
	15-CV-1395	15-8070	SAVOIE, MARINA	1026 N MAPLEWOOD AVE	\$50	LE	
	15-CV-1328	15-7195	SCHLINK, ROBERT AND PATRICIA	1208 E WILLCOX AVE	\$50	PM	
X	15-CV-1245	15-7217	SCHOCH, BETTY	810 VINE ST	\$50	AE	DISMISSED - PAID ON 7/2/15
	15-CV-1372	15-7873	SHAFFER, ROY	129 NE LAKE VIEW AVE	\$50	AE	
	15-CV-1479	15-8300	SHORT PROPERTIES	114 E MAYWOOD AVE	\$50	LA	
	15-CV-1325	15-7589	SHORT, MARK OR DANIEL	2706 N SPRINGDALE AVE	\$100	PM	
X	15-CV-1497	15-8363	SIG HOLDINGS LLC	1410 N MACHIN ST	\$100	LE	DISMISSED - PAID ON 7/27/15
	15-CV-1310	15-7285	SIMONSEN, SCOTT	923 W MCCLURE AVE	\$50	DG	
	15-CV-1354	15-7770	SMITH, SHAUNNA	2409 N PEORIA AVE	\$50	TA	
	15-CV-1468	15-7201	SNARR, WARDNEY	1222 HAMILTON BLVD	\$100	LA	
	15-CV-1072	15-6379	SPAIN, DIANA	3402 W GREENWOOD PL	\$100	KS	DISMISSED - PER KAREN ON 6/24/15
X	15-CV-1056	15-5374	SPATES, RALPH	1207 W HURLBURT ST	\$50	GW	1st APPEARANCE - 7/14/15; 1ST APPEARANCE CONTINUED TO 8/11/15; DISMISSED - PAID ON 7/27/15
	15-CV-0042	15-321	SWAIDEN, SALEM	3034 N WISCONSIN AVE	\$300	NR	1ST APPEARANCE - 7/14/15; REVIEW - 8/11/15
	15-CV-1392	15-8103	THOMAS, JOANNE	1113 W COLUMBIA TER	\$100	LE	
X	15-CV-1442	15-8033	THRASHER, CLARA	1043 S TONTI CIR	\$150	BB	DISMISSED - PAID ON 7/15/15
X	15-CV-1284	15-7298	TOLAND, ROBERTA AND LLOYD	3800 N COLUMBUS AVE	\$50	PM	DISMISSED - PAID ON 7/27/15
	15-CV-1353	15-7769	TRITSCH, ANTHONY	813 W MACQUEEN AVE	\$50	DG	
	15-CV-1391	15-8097	TYLER, CLINTON	1801 W AYRES AVE	\$100	LE	
	15-CV-1005	15-5757	U.S. BANK, N.A., AS SUCCESSOR TRUSTEE	2715 N GOLF DR	\$150	BB	
	15-CV-1294	15-7424	UNITY HOUSE OF PRAYER CHURCH	813 NE PERRY AVE	\$50	AE	
	15-CV-1237	15-7102	VIP INVESTMENTS OF PEORIA LLC	902 E KANSAS ST	\$100	PM	
	15-CV-1364	15-7782	VUKICH, MONICA	1102 NE MONROE ST	\$50	AE	
X	15-CV-1397	15-8076	WALGENBACH/LAWLOR PROPERTIES TWO	1607 W BARKER AVE	\$50	LE	DISMISSED - PAID ON 7/21/15
X	15-CV-1322	15-7615	WALLENFANG, ROBERT	1503 NE GLEN OAK AVE	\$50	PM	DISMISSED - PAID ON 7/20/15
X	15-CV-1233	15-7092	WAYNE, CLARENCE	1105 E WILLCOX AVE	\$50	PM	DISMISSED - PAID ON 7/28/15
	15-CV-1356	15-7777	YOUNG, ALONZO	2415 N PEORIA AVE	\$50	TA	
	15-CV-1329	15-7705	YOUNGBLOOD, LARRY	508 E VIRGINIA AVE	\$50	LA	DEFAULT - 7/28/15 \$100; CITY'S MOTION TO VACATE - 8/11/15
	15-CV-1324	15-7594	YOUNGBLOOD, LARRY	1401 E PARIS AVE	\$100	PM	

54 - PAID
103 - 1ST APPEARANCE
10 - DISMISSED
4 - REVIEW
1 - MOTION TO VACATE

**Emergency
Communications
Center**



**Monthly Report
July 2015**

**Peoria
9-1-1**

CITY OF PEORIA
EMERGENCY COMMUNICATIONS CENTER 2015 ANNUAL REPORT

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	TOTAL	2014 Totals
Landbased 9-1-1 Calls	2,326	2,036	2,386	2,318	2,442	2,449	2,387						16,344	27,714
Wireless 9-1-1 Calls	6,822	5,837	6,516	6,475	7,591	7,808	8,503						49,552	76,573
TOTAL 9-1-1 CALLS	9,148	7,873	8,902	8,793	10,033	10,257	10,890	0	0	0	0	0	65,896	104,287
Peoria Police Incoming Calls	7,072	6,425	7,428	7,501	8,427	9,083	8,912						54,848	93,002
Sheriff's Police Incoming Calls	2,486	2,274	2,417	2,725	2,864	3,025	2,938						18,729	32,833
TOTAL POLICE INCOMING CALLS	9,558	8,699	9,845	10,226	11,291	12,108	11,850	0	0	0	0	0	73,577	125,835
Volunteer Fire/EMS toll free calls	20	13	27	37	28	24	17						166	414
Peoria Fire Incoming Calls	615	458	578	716	732	774	733						4,606	8,731
TOTAL FIRE INCOMING CALLS	635	471	605	753	760	798	750	0	0	0	0	0	4,772	9,145
Operator Assist Calls/Alarm Calls	828	771	765	892	1,025	983	974						6,238	10,763
Ambulance Incoming Calls	321	271	252	252	235	237	260						1,828	2,531
ECC Supervisor Incoming Calls	790	764	824	915	951	1,094	954						6,292	9,794
Richwoods Dispatcher Incoming Calls	82	73	77	95	109	100	73						609	985
Downtown Dispatcher Incoming Calls	58	51	65	69	57	58	50						408	733
Prep 2 Dispatcher Incoming Calls	615	582	581	681	701	747	602						4,509	8,298
C-MED Dispatcher Incoming Calls	52	29	32	42	34	59	44						292	458
County Sheriff Dispatcher Incoming Calls	40	46	27	37	45	47	29						271	524
Fire Dispatcher Incoming Calls	90	51	73	85	89	97	79						564	1,020
OverFlow Dispatcher Incoming Calls	20	15	10	9	6	10	9						79	113
Call Taker Incoming Calls	0	3	0	0	1	5	2						11	12
TOTAL INCOMING EXTENSION CALLS	1,747	1,614	1,689	1,933	1,993	2,217	1,842	0	0	0	0	0	13,035	21,937
TOTAL OUTGOING EXTENSION CALLS	5,291	5,141	5,626	5,402	6,002	6,477	6,298						40,237	67,135
Peoria Police Dispatches/On view	7,686	6,794	7,682	8,421	9,295	10,065	9,803						59,746	101,724
Peoria County Sheriff Dispatches/On view	2,683	2,350	2,575	2,717	3,021	2,976	2,842						19,164	29,166
TOTAL POLICE DISPATCHES/ON VIEW	10,369	9,144	10,257	11,138	12,316	13,041	12,645	0	0	0	0	0	78,910	130,890
Air National Guard Fire Dispatches	8	5	4	1	1	6	3						28	71
Akron-Princeville Fire Dispatches	19	14	24	28	5	19	15						124	231
Brimfield Fire Dispatches	46	23	26	27	30	27	26						205	378
Dunlap Fire Dispatches	38	27	35	55	32	30	42						259	373
Elmwood Fire Dispatches	13	12	10	11	10	8	4						68	142
Limestone Fire Dispatches	117	117	111	111	100	101	108						765	1,357
Logan-Trivoli Fire Dispatches	44	38	42	38	42	45	33						282	443
Peoria Fire Dispatches	1,613	1,424	1,546	1,571	1,665	1,667	1,661						11,147	18,637
Timber-Hollis Fire Dispatches	32	22	37	27	19	34	20						191	345
Tuscarora Fire Dispatches	1	3	9	6	4	4	3						30	48
West Peoria Fire Dispatches	44	43	46	45	45	50	47						320	547
MABAS Fire Calls	1	3	8	8	1	1	2						24	41
MABAS EMS Calls	0	0	0	0	0	0	0						0	0
TOTAL FIRE DISPATCHES	1,976	1,731	1,898	1,928	1,954	1,992	1,964	0	0	0	0	0	13,443	22,613
AMT Ambulance Dispatches	1,130	945	1,108	1,059	1,065	1,071	1,006						7,384	14,975
APA Ambulance Dispatches	15	14	14	15	5	15	16						94	169
BYE Ambulance Dispatches	73	37	32	31	39	30	32						274	479
TOTAL AMBULANCE DISPATCHES	1,218	996	1,154	1,105	1,109	1,116	1,054	0	0	0	0	0	7,752	15,623
Peoria County Coroner Incoming Calls	166	175	230	178	231	237	220						1,437	2,190
Community Messaging System Call-outs	15	15	9	20	27	20	13						119	250
Telephone Trouble Reports Completed	0	0	0	4	2	1	1						8	5
ETSB Equipment Trouble Reported	5	8	9	6	5	7	2						42	70
Citizen Concerns	1	3	0	2	3	1	0						10	40
CD Requests from State's Attorney's Office	7	11	12	5	5	5	3						48	57
CD Requests from FOI / Subpoena	4	6	10	1	1	6	3						31	78
CD Requests from Inner Departmental	9	7	8	7	10	5	7						53	78
Total Number of CD Requests	20	24	30	13	16	16	13	0	0	0	0	0	132	213
ILEAS Call Outs	0	0	0	0	0	0	0						0	4
JULIE Dig	121	40	85	32	34	25	51						388	822

Yearly Summary

	Number of Calls	Dispatch Response Time	Police Response Time	Total Time	
PEORIA POLICE					
Urgent	19541	1.19	4.10	4.92	
Routine	18919	9.62	8.11	17.54	
Backlog	4128	21.60	7.05	28.65	
PEORIA COUNTY SHERIFF					
Urgent	3087	1.75	6.57	7.83	
Routine	4165	9.74	9.08	18.82	
Backlog	311	33.93	11.11	47.53	
	Number of Calls	Dispatch Response Time	Fire Response Time	Total Time	Average Turnout Time
PEORIA FIRE	11059	0.74	4.34	5.08	1.53

City of Peoria
Emergency Communications Center

Police Department
Urgent Calls for Service
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
January 2015	Number of Calls	90	110	374	183	39	217	111	128	321	230	202	72	74	219	6	113	110	2599	0		
	Exceptions																					
	Dispatch Response Time	1.5	0.8	1.2	1.4	0.8	2.8	0.7	2.0	2.7	2.0	1.4	0.9	1.4	1.3	0.6	1.1	1.7	4278.0	2599	1.65	
	Police Response Time	2.6	3.6	3.0	2.9	2.7	2.9	4.7	3.9	7.8	3.8	4.9	4.3	4.5	6.0	13.2	4.3	6.7	11664.5	2599	4.49	
	Total time	4.1	4.4	4.2	4.3	3.5	5.4	5.9	10.5	5.8	6.3	5.2	5.9	7.3	13.8	5.4	8.4	15942.5	2599	6.13		
February 2015	Number of Calls	77	112	288	125	42	147	92	129	230	191	141	65	56	176	13	123	76	2083	0		
	Exceptions																					
	Dispatch Response Time	0.7	0.6	0.7	0.7	0.6	1.3	0.8	1.5	0.8	1.0	1.7	1.2	1.0	1.0	0.6	1.0	1.4	2055.5	2083	0.99	
	Police Response Time	2.9	3.5	2.9	3.2	3.5	2.8	4.6	3.4	3.8	3.6	4.1	4.5	5.2	6.1	9.7	5.5	6.4	8356.9	2083	4.01	
	Total time	3.6	4.1	3.6	3.9	4.1	4.1	5.4	4.9	4.6	4.6	5.8	5.7	6.2	7.1	10.3	6.5	7.8	10412.4	2083	5.00	
March 2015	Number of Calls	98	124	420	188	57	241	125	136	341	218	187	86	86	208	8	82	91	2696	0		
	Exceptions																					
	Dispatch Response Time	0.6	0.6	0.9	1.1	0.5	0.7	0.9	0.7	1.0	0.8	0.8	0.6	0.6	1.1	0.7	0.8	1.3	2309.4	2696	0.86	
	Police Response Time	2.7	3.3	2.9	2.9	3.3	2.8	4.1	3.1	3.4	3.5	4.7	4.7	4.8	6.2	10.1	4.0	6.8	10169.5	2696	3.77	
	Total time	3.3	3.9	3.8	4.0	3.8	3.5	5.0	3.8	4.4	4.3	5.5	5.3	5.4	7.3	10.8	4.8	8.1	12478.9	2696	4.63	
April 2015	Number of Calls	98	112	441	186	44	220	109	143	331	226	180	107	57	212	5	104	90	2665	0		
	Exceptions																					
	Dispatch Response Time	0.7	0.9	1.0	0.9	0.8	1.0	1.2	1.3	1.0	1.2	0.9	0.8	0.9	0.8	1.5	1.0	1.1	2630.9	2665	0.99	
	Police Response Time	2.2	3.2	2.9	2.9	3.1	2.8	4.2	3.4	2.9	4.0	4.2	4.2	5.2	6.4	8.0	4.1	5.7	9790.6	2665	3.67	
	Total time	2.9	4.1	3.9	3.8	3.9	3.8	5.4	4.7	3.9	5.2	5.1	5.0	6.1	7.2	9.5	5.1	6.8	12421.5	2665	4.66	
May 2015	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	3192	0		
	Exceptions																					
	Dispatch Response Time	1.4	1.0	0.9	1.4	0.6	0.9	2.0	1.2	1.6	1.3	1.0	1.0	1.3	1.7	1.0	1.5	1.9	4112.1	3192	1.29	
	Police Response Time	2.8	3.4	2.9	3.1	3.2	2.9	4.3	3.5	3.3	3.7	4.3	4.6	5.0	6.0	10.2	4.5	6.6	12139.6	3192	3.80	
	Total time	4.2	4.4	3.8	4.5	3.8	3.8	6.3	4.7	4.9	5.0	5.3	5.6	6.3	7.7	11.2	6.0	8.5	16251.7	3192	5.09	
June 2015	Number of Calls	108	143	483	261	56	278	146	145	433	254	228	113	81	253	4	114	131	3231	0		
	Exceptions																					
	Dispatch Response Time	1.4	1.3	1.6	1.4	0.9	1.8	1.1	1.1	1.4	1.0	1.0	1.4	1.2	1.1	1.3	1.4	1.9	4381.8	3231	1.36	
	Police Response Time	2.7	3.2	3.1	3.3	3.1	2.8	3.9	3.5	3.3	3.5	4.6	4.4	4.8	6.3	7.0	4.1	6.9	12382.6	3231	3.83	
	Total time	4.1	4.5	4.7	4.7	4.0	4.6	5.0	4.6	4.7	4.5	5.6	5.8	6.0	7.4	8.3	5.5	8.8	16764.4	3231	5.19	
July 2015	Number of Calls	94	136	477	252	44	273	117	136	426	287	194	110	38	233	5	131	122	3075	0		
	Exceptions																					
	Dispatch Response Time	1.8	0.9	1.2	1.1	0.6	0.8	1.1	1.9	1.0	1.4	0.9	1.0	1.1	1.5	0.8	1.1	1.6	3620.1	3075	1.18	
	Police Response Time	2.2	3.3	3.0	3.1	3.8	2.9	4.0	3.2	3.1	3.5	4.4	4.8	4.8	6.4	9.8	3.9	6.9	11511.9	3075	3.74	
	Total time	4.0	4.2	4.2	4.2	4.4	3.7	5.1	5.1	4.9	5.3	5.8	5.9	7.9	10.6	5.0	8.5	15132.0	3075	4.92		
YEAR TO DATE TOTALS AND AVERAGES																						
	Total Number of Calls																	19541.0				
	Total Number of Exceptions																	0.0				
	Average Dispatch Response Time																	1.19				
	Average Police Response Time																	4.10				
	Average Total Time																	4.92				

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Police Department
Routine Calls for Service
By Police District

	VALLEY								BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average
	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19					
January 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	2336			(total min/total calls)
	Number of Calls	64	143	235	135	77	125	133	118	256	198	180	111	89	228	8	144	92	0			
	Exceptions																					
	Dispatch Response Time	11.2	7.5	8.8	9.0	7.6	8.5	11.2	8.9	15.0	15.3	12.6	12.9	11.5	14.6	16.0	10.1	10.1	26693.0	2336		11.43
February 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	2147			(total min/total calls)
	Number of Calls	54	133	242	130	83	96	109	99	226	159	131	105	86	208	2	171	113	0			
	Exceptions																					
	Dispatch Response Time	10.7	9.8	9.6	14.4	10.7	8.6	11.7	9.9	15.6	11.4	10.8	13.2	10.1	14.1	7.0	11.4	10.4	25118.1	2147		11.70
March 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	2519			(total min/total calls)
	Number of Calls	83	129	274	147	81	127	128	127	325	189	150	106	95	267	2	157	132	0			
	Exceptions																					
	Dispatch Response Time	9.8	11.8	11.7	12.3	9.9	13.4	15.9	10.7	13.5	14.6	14.3	10.3	10.0	16.7	2.0	9.8	13.0	32298.5	2519		12.82
April 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	2579			(total min/total calls)
	Number of Calls	67	147	264	130	86	154	140	151	375	249	173	100	98	202	4	128	111	0			
	Exceptions																					
	Dispatch Response Time	9.8	12.7	14.3	16.2	14.2	13.8	14.7	11.3	17.0	17.1	14.0	8.3	14.3	15.5	27.0	12.0	16.6	37419.3	2579		14.51
May 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	3192			(total min/total calls)
	Number of Calls	90	103	493	249	45	296	132	165	433	304	212	102	81	211	6	124	146	0			
	Exceptions																					
	Dispatch Response Time	1.4	1.0	0.9	1.4	0.6	0.9	2	1.2	1.6	1.3	1.0	1.0	1.3	1.7	1.0	1.5	1.9	4112.1	3192		1.29
June 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	3109			(total min/total calls)
	Number of Calls	84	196	336	176	103	200	155	154	426	266	173	160	109	262	4	161	144	0			
	Exceptions																					
	Dispatch Response Time	11.8	12.8	12.9	18.2	17.8	16.4	16.3	17.2	21.5	17.3	17.0	17.6	17.2	17.9	18.8	15.3	20.9	52956.8	3109		17.03
July 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	3037			(total min/total calls)
	Number of Calls	75	168	301	169	96	185	159	159	370	274	200	148	109	266	8	195	155	0			
	Exceptions																					
	Dispatch Response Time	8.5	10.6	13.7	18.3	9.1	12.9	15.9	13.3	14.3	16.1	14.0	12.8	11.9	19.6	13.0	12.8	13.9	43199.6	3037		14.22
YEAR TO DATE TOTALS AND AVERAGES	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	18919			
	Number of Calls	75	168	301	169	96	185	159	159	370	274	200	148	109	266	8	195	155	0			
	Exceptions																					
	Average Dispatch Response Time	9.62																				

City of Peoria
Emergency Communications Center

Police Department
Routine Calls for Service
By Police District

Average Police Response Time	8.11
Average Total Time	17.54

City of Peoria
Emergency Communications Center

Police Department
Backlog Calls for Service
By Police District

	VALLEY								BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average (total min/total calls)
	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19					
January 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	114			
	Number of Calls	1	2	34	5	1	3	6	10	11	10	5	6	4	12	1	0	3	0			
	Exceptions																		0			
	Dispatch Response Time	6.0	20.5	6.6	0.0	1.0	10.0	39.5	7.8	19.4	54.1	32.6	8.5	6.8	14.3	27.0	0.0	5.3	1827.5	114	16.03	
	Police Response Time	8.0	10.1	14.2	0.0	0.0	6.0	8.7	4.4	6.8	5.0	4.0	13.7	5.0	10.9	3.0	0.0	10.0	1036.0	114	9.09	
Total time	14.0	30.6	20.8	0.0	1.0	16.0	48.2	12.2	26.2	59.1	36.6	22.2	11.8	25.2	30.0	0.0	15.3	2863.5	114	25.12		
February 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	148			
	Number of Calls	6	32	10	5	3	5	12	9	8	8	11	6	7	11	1	7	7	0			
	Exceptions																		0			
	Dispatch Response Time	26.0	25.2	11.9	53.8	20.0	17.0	7.5	28.4	22.1	27.7	32.8	10.5	68.1	61.1	8.0	8.1	23.3	4039.8	148	27.30	
	Police Response Time	4.3	8.9	4.6	5.4	5.3	3.5	8.7	6.0	5.4	3.7	9.8	8.3	8.2	12.5	16.0	7.6	10.4	1142.7	148	7.72	
Total time	30.3	34.1	16.5	59.2	25.3	20.5	16.2	34.4	27.5	31.4	42.6	18.8	76.3	73.6	24.0	15.7	33.7	5182.5	148	35.02		
March 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	154			
	Number of Calls	4	33	14	14	2	11	8	3	18	8	10	3	3	10	0	3	10	0			
	Exceptions																		0			
	Dispatch Response Time	29.3	17.8	20.8	53.8	26.5	22.3	20.8	11.7	22.6	24.8	31.6	13.0	16.0	43.9	0.0	0.5	33.3	4030.5	154	26.17	
	Police Response Time	4.5	9.4	8.0	5.9	2.5	4.5	7.6	9.0	7.2	7.5	7.3	6.0	20.0	9.0	0.0	7.3	9.4	1211.6	154	7.87	
Total time	33.8	27.2	28.8	59.7	29.0	26.8	28.4	20.7	29.8	32.3	38.9	19.0	36.0	52.9	0.0	7.8	42.7	5242.1	154	34.04		
April 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	163			
	Number of Calls	3	45	9	5	5	4	9	11	11	10	6	6	5	15	0	12	7	0			
	Exceptions																		0			
	Dispatch Response Time	15.7	22.5	27.1	15.2	2.0	11.3	28.9	12.3	58.2	18.1	24.8	24.0	46.2	11.7	0.0	12.8	1.7	3516.1	163	21.57	
	Police Response Time	2.7	9.5	4.1	4.6	9.8	3.7	3.5	8.3	3.2	5.4	12.4	6.7	6.5	8.0	0.0	6.7	7.1	1168.5	163	7.17	
Total time	18.4	32.0	31.2	19.8	11.8	15.0	32.4	20.6	61.4	23.5	37.2	30.7	52.7	19.7	0.0	19.5	8.8	4684.6	163	28.74		
May 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	2992			
	Number of Calls	89	145	340	195	98	177	155	143	430	269	189	115	113	233	7	149	145	0			
	Exceptions																		0			
	Dispatch Response Time	9.3	12.1	15.0	19.0	13.8	17.7	21.6	16.4	18.6	18.1	16.2	14.1	15.2	17.6	39.6	15.8	17.9	50161.2	2992	16.77	
	Police Response Time	4.2	5.9	4.2	4.7	6.4	4.1	6.0	5.4	4.7	6.1	5.3	6.6	7.5	9.5	12.3	7.1	7.7	17373.0	2992	5.81	
Total time	13.5	18.0	19.2	23.7	20.2	21.8	27.6	21.8	23.3	24.2	21.5	20.7	22.7	27.1	51.9	22.9	25.6	67534.2	2992	22.57		
June 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	260			
	Number of Calls	5	28	29	10	5	11	20	17	44	29	18	9	6	13	0	5	11	0			
	Exceptions																		0			
	Dispatch Response Time	44.8	17.3	15.3	27.8	6.4	27.9	28.5	30.0	32.4	21.5	26.5	19.7	55.2	9.1	0.0	43.4	40.3	6662.2	260	25.62	
	Police Response Time	7.3	7.4	6.0	4.1	8.8	4.5	5.8	3.1	4.5	5.1	3.8	6.3	7.3	8.9	0.0	5.8	6.3	1449.7	260	5.58	
Total time	52.1	24.7	21.3	31.9	15.2	32.4	34.3	33.1	36.9	26.6	30.3	26.0	62.5	18.0	0.0	49.2	46.6	8111.9	260	31.20		
July 2015	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	297			
	Number of Calls	3	40	29	15	3	9	16	13	48	38	19	12	7	18	0	10	17	0			
	Exceptions																		0			
	Dispatch Response Time	9.3	11.8	14.3	33.6	26.3	20.9	10.6	12.0	18.4	14.0	15.3	12.6	39.4	33.9	0.0	3.5	27.8	5261.9	297	17.72	
	Police Response Time	1.7	6.8	5.7	3.5	7.0	3.6	4.7	4.7	5.5	4.2	6.0	8.1	8.7	12.2	0.0	6.1	9.6	1824.1	297	6.14	
Total time	11.0	18.6	20.0	37.1	33.3	24.5	15.3	16.7	23.9	18.2	21.3	20.7	48.1	46.1	0.0	9.6	37.4	7086.0	297	23.86		
YEAR TO DATE TOTALS AND AVERAGES																						
	Total Number of Calls																4128					
	Total Number of Exceptions																0.0					
	Average Dispatch Response Time																21.60					
	Average Police Response Time																7.05					
	Average Total Time																28.65					

Urgent-3 min or less
Routine-30 min or less
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria
Emergency Communications Center

Peoria Fire Department
Fire Calls for Service
By Fire Map

Month	Fire Map	VALLEY				BLUFF			RICHWOODS					Total Calls	(total min/total calls)		
		100-199	200-299	400-499	1200-1299	300-399	1000-1099	1100-1199	1300-1399	1500-1599	1600-1699	1900-1999	2000-2099		Total Minutes	Calls	Average
January 2015	Number of Calls	279	113	205	69	124	159	107	231	50	144	76	54	1611			
	Dispatch Response Time	0.6	1.2	0.6	0.2	1.0	0.9	0.6	0.6	0.7	0.8	0.8	0.8	1163.9	1611	0.72	
	Fire Response Time	3.5	3.9	4.2	5.9	4	4.9	4.6	4.7	5.2	5.1	6.4	6.2	7353.9	1611	4.56	
	Total time	4.1	5.1	4.8	6.1	5.0	5.8	5.2	5.3	5.9	5.9	7.2	7.0	8517.8	1611	5.29	
February 2015	Number of Calls	257	100	185	62	133	125	92	198	40	133	62	31	1418			
	Dispatch Response Time	0.4	0.3	0.8	0.5	0.7	0.6	0.2	0.3	1.2	0.8	0.6	0.3	758.6	1418	0.53	
	Fire Response Time	3.5	4.2	4.3	5.9	4.2	5	4.4	4.8	5	4.6	6.1	6.5	6411.1	1418	4.52	
	Total time	3.9	4.5	5.1	6.4	4.9	5.6	4.6	5.1	6.2	5.4	6.7	6.8	7169.7	1418	5.06	
March 2015	Number of Calls	246	74	212	119	158	138	96	203	39	141	59	38	1523			
	Dispatch Response Time	0.5	0.9	0.3	0.4	0.8	0.8	0.8	0.8	1.3	0.5	0.4	0.6	944.4	1523	0.62	
	Fire Response Time	3.5	5.3	4.1	3.9	3.9	4.6	4	4.5	5.1	4.8	5.8	5.2	6550.5	1523	4.30	
	Total time	4.0	6.2	4.4	4.3	4.7	5.4	4.8	5.3	6.4	5.3	6.2	5.8	7494.9	1523	4.92	
APRIL 2015	Number of Calls	270	107	228	57	153	163	109	197	41	125	71	31	1552			
	Dispatch Response Time	1.0	0.3	1.2	0.7	0.7	0.4	0.4	0.9	0.3	0.5	0.3	1.1	1139.0	1552	0.73	
	Fire Response Time	3.4	3.9	3.9	5.8	3.8	4.6	4.1	4	4.4	4.5	5.3	8.4	6500.8	1552	4.19	
	Total time	4.4	4.2	5.1	6.5	4.5	5.0	4.5	4.9	4.7	5.0	5.6	9.5	7639.8	1552	4.92	
May 2015	Number of Calls	284	115	244	89	164	165	107	182	48	130	79	34	1641			
	Response Time	0.6	0.9	0.8	0.5	0.5	1.1	0.5	0.8	1.0	0.5	0.8	0.2	1159.2	1641	0.71	
	Time	3.2	4	4	4.8	3.9	4.6	3.9	4.6	4.4	4.4	5.4	6.3	6849.1	1641	4.17	
	Total time	3.8	4.9	4.8	5.3	4.4	5.7	4.4	5.4	5.4	4.9	6.2	6.5	8008.3	1641	4.88	
June 2015	Number of Calls	288	122	261	64	128	184	107	214	51	146	58	36	1659			
	Response Time	1.5	0.9	0.6	0.3	2.0	1.9	2.1	1.3	0.3	0.7	0.4	2.6	2060.4	1659	1.24	
	Time	3.5	3.8	4.1	5.8	4.3	4.9	4	4.6	4.8	4.8	5.8	5.8	7268.1	1659	4.38	
	Total time	5.0	4.7	4.7	6.1	6.3	6.8	6.1	5.9	5.1	5.5	6.2	8.4	9328.5	1659	5.62	
July 2015	Number of Calls	304	131	264	59	133	154	109	220	56	121	69	35	1655			
	Response Time	0.9	0.6	0.5	0.3	0.3	0.7	0.8	0.6	0.6	0.4	1.1	0.4	1040.7	1655	0.63	
	Time	3.4	4.1	4	5.3	3.9	4.7	4.1	4.4	4.7	4.6	5.4	6	6999.2	1655	4.23	
	Total time	4.3	4.7	4.5	5.6	4.2	5.4	4.9	5.0	5.3	5.0	6.5	6.4	8039.9	1655	4.86	

YEAR TO DATE TOTALS AND AVERAGES

Total Number of Calls	11059
Average Dispatch Response Time	0.74
Average Fire Response Time	4.34
Average Total Time	5.08

Peoria Fire Department
Average Turn-Out Time for Each Apparatus

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	Yearly Average
B1	1.5	1.5	1.4	1.5	1.5	1.5	1.5						1.49
E1	1.5	1.5	1.5	1.4	1.4	1.4	1.4						1.44
R1	1.4	1.4	1.5	1.4	1.4	1.4	1.4						1.41
T1	1.9	1.8	1.7	1.6	1.7	1.7	1.7						1.73
E10	1.4	1.5	1.5	1.4	1.4	1.5	1.6						1.47
E12	1.7	1.6	1.6	1.5	1.4	1.5	1.6						1.56
E13	1.6	1.5	1.5	1.4	1.4	1.5	1.4						1.47
T14	1.7	1.7	1.8	1.7	1.7	1.6	1.8						1.71
E15	1.7	1.8	1.6	1.4	1.6	1.5	1.6						1.60
E16	1.7	1.6	1.4	1.5	1.4	1.5	1.6						1.53
E19	1.7	1.6	1.7	1.5	1.5	1.6	1.5						1.59
E2	1.7	1.7	1.6	1.6	1.5	1.7	1.6						1.63
R2	1.4	1.4	1.3	1.4	1.2	1.3	1.4						1.34
E20	1.8	1.9	1.7	1.6	1.5	1.5	1.7						1.67
B3	1.6	1.6	1.6	1.6	1.5	1.6	1.6						1.59
E3	1.4	1.3	1.3	1.2	1.3	1.3	1.3						1.30
T3	1.5	1.6	1.5	1.4	1.5	1.6	1.6						1.53
E4	1.5	1.4	1.5	1.3	1.4	1.5	1.4						1.43
T4	1.7	1.5	1.5	1.3	1.5	1.6	1.5						1.51
												Department Average	1.53

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Urgent calls for service by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
January 2015	Number of Calls	3	1	14	2	95	84	42	14	30	37	74		396		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	2.7	0.0	1.8	1.0	1.3	2.1	1.2	1.1	0.2	2.4	0.8		555.0	396	1.40
	Police Response Time	1.5	27.0	5.1	18.0	7.9	7.2	10.1	9.8	4.3	9.5	3.5		2795.1	396	7.06
	Total time	4.2	27.0	6.9	19.0	9.2	9.3	11.3	10.9	4.5	11.9	4.3		3350.1	396	8.46
February 2015	Number of Calls	2	4	7	0	71	84	37	5	28	30	68		336		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	0.0	1.5	1.0	0.0	2.6	2.4	1.5	0.7	0.4	1.2	1.2		587.0	336	1.75
	Police Response Time	3.0	12.8	7.6	0.0	9.3	7.9	9.8	5.3	3.6	10.5	3.6		2484.0	336	7.39
	Total time	3.0	14.3	8.6	0.0	11.9	10.3	11.3	6.0	4.0	11.7	4.8		3071.0	336	9.14
March 2015	Number of Calls	5	1	11	1	103	90	50	16	46	36	89		448		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	9.7	0.0	5.1	1.0	1.5	1.4	1.3	0.6	1.1	3.3	1.0		719.1	448	1.61
	Police Response Time	2.6	20.0	4.8	24.0	7.9	6.6	10.7	4.4	3.5	6.7	3.7		2854.4	448	6.37
	Total time	12.3	20.0	9.9	25.0	9.4	8.0	12.0	5.0	4.6	10.0	4.7		3573.5	448	7.98
April 2015	Number of Calls	5	4	12	1	113	94	56	11	43	29	85		453		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	2.3	1.0	0.7	0.0	2.1	2.4	1.7	0.6	2.2	0.8	0.8		774.4	453	1.71
	Police Response Time	5.6	14.0	9.0	1.0	7.1	5.8	11.6	5.5	3.3	8.8	4.1		2996.2	453	6.61
	Total time	7.9	15.0	9.7	1.0	9.2	8.2	13.3	6.1	5.5	9.6	4.9		3770.6	453	8.32
May 2015	Number of Calls	4	4	12	4	109	98	57	11	46	45	102		492		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	1.0	0.5	0.3	0.3	1.4	2.9	3.5	0.6	1.3	1.2	1.5		920.5	492	1.87
	Police Response Time	3.3	11.7	8.6	12.8	8.9	7.1	9.9	7.1	3.0	7.4	3.2		3320.1	492	6.75
	Total time	4.3	12.2	8.9	13.1	10.3	10.0	13.4	7.7	4.3	8.6	4.7		4240.6	492	8.62
June 2015	Number of Calls	0	2	13	5	125	96	54	19	35	58	92		499		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	0.0	1.5	1.3	0.2	1.8	1.7	1.8	2.8	1.5	2.7	2.0		952.6	499	1.91
	Police Response Time	0.0	9.0	10.0	15.6	8.1	7.6	13.0	8.3	3.3	9.2	3.7		3817.3	499	7.65
	Total time	0.0	10.5	11.3	15.8	9.9	9.3	14.8	11.1	4.8	11.9	5.7		4769.9	499	9.56
July 2015	Number of Calls	4	2	11	2	95	106	55	18	43	47	80		463		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	2.3	1.0	2.2	1.0	2.2	2.5	2.4	1.7	1.2	2.3	1.3		937.7	463	2.03
	Police Response Time	6.8	20.5	6.3	17.5	7.2	6.8	10.3	11.8	3.2	7.1	3.8		3131.5	463	6.76
	Total time	9.1	21.5	8.5	18.5	9.4	9.3	12.7	13.5	4.4	9.4	5.1		4069.2	463	8.79
YEAR TO DATE TOTALS AND AVERAGES																
	Total Number of Calls												3087			
	Total Number of Exceptions												0			
	Average Dispatch Response Time												1.75			
	Average Police Response Time												6.57			
	Average Total Time												7.83			

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Routine calls by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls	Total Minutes	Calls	Average
		Number of Calls	Exceptions	Dispatch Response Time	Police Response Time	Total time											
January 2015	Number of Calls	32	3	13	3	100	148	78	19	41	55	65		557			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	10.0	7.3	11.8	38.0	7.9	8.4	9.3	11.1	11.6	8.3	6.9		4959.4	557	8.90	
	Police Response Time	5.9	15.3	7.3	10.3	11.7	9.0	14.1	9.3	6.0	8.6	5.4		5209.0	557	9.35	
	Total time	15.9	22.6	19.1	48.3	19.6	17.4	23.4	20.4	17.6	16.9	12.3		10168.4	557	18.26	
February 2015	Number of Calls	40	8	7	2	105	124	48	11	22	42	78		487			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	5.3	4.6	8.9	10.5	8.8	7.2	9.1	8.6	4.1	5.0	6.1		3456.3	487	7.10	
	Police Response Time	3.9	16.6	12.0	6.0	10.1	8.1	14.5	8.4	4.3	9.7	4.6		4098.9	487	8.42	
	Total time	9.2	21.2	20.9	16.5	18.9	15.3	23.6	17.0	8.4	14.7	10.7		7555.2	487	15.51	
March 2015	Number of Calls	48	7	18	3	112	117	48	10	35	39	91		528			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	7.9	3.2	9.8	24.0	15.3	13.0	5.9	2.6	6.2	9.5	7.0		5418.3	528	10.26	
	Police Response Time	4.5	17.1	9.6	15.0	9.6	8.5	12.3	13.8	5.6	12.8	5.2		4520.0	528	8.56	
	Total time	12.4	20.3	19.4	39.0	24.9	21.5	18.2	16.4	11.8	22.3	12.2		9938.3	528	18.82	
April 2015	Number of Calls	44	9	10	1	132	148	79	19	46	58	88		634			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	19.0	7.4	9.4	0.0	12.5	16.1	9.4	9.1	8.2	5.7	7.9		7347.9	634	11.59	
	Police Response Time	6.2	17.8	7.7	13.0	11.0	8.5	11.4	15.7	3.9	9.5	4.1		5523.1	634	8.71	
	Total time	25.2	25.2	17.1	13.0	23.5	24.6	20.8	24.8	12.1	15.2	12.0		12871.0	634	20.30	
May 2015	Number of Calls	36	11	11	3	180	143	72	25	42	57	111		691			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	5.5	5.6	18.9	19.0	11.3	12.7	9.6	10.7	6.5	7.4	9.5		7082.6	691	10.25	
	Police Response Time	5.0	21.4	7.8	16.7	9.3	8.7	14.2	12.8	3.9	9.0	6.3		6187.9	691	8.95	
	Total time	10.5	27.0	26.7	35.7	20.6	21.4	23.8	23.5	10.4	16.4	15.8		13270.5	691	19.20	
June 2015	Number of Calls	28	11	14	1	144	154	76	14	42	50	116		650			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	5.2	8.6	9.0	1.0	12.1	10.0	13.5	2.8	5.8	11.1	8.8		6534.2	650	10.05	
	Police Response Time	9.6	19.9	6.5	8.0	9.8	11.1	13.9	7.6	4.9	9.0	6.4		6268.3	650	9.64	
	Total time	14.8	28.5	15.5	9.0	21.9	21.1	27.4	10.4	10.7	20.1	15.2		12802.5	650	19.70	
July 2015	Number of Calls	38	7	9	6	139	161	74	18	28	66	72		618			(total min/total calls)
	Exceptions													0			
	Dispatch Response Time	9.5	14.0	13.0	17.0	10.8	10.2	11.6	8.4	7.2	7.6	9.1		6189.4	618	10.02	
	Police Response Time	6.2	14.6	9.9	17.2	11.0	9.1	15.1	13.0	4.8	11.1	5.6		6145.8	618	9.94	
	Total time	15.7	28.6	22.9	34.2	21.8	19.3	26.7	21.4	12.0	18.7	14.7		12335.2	618	19.96	
YEAR TO DATE TOTALS AND AVERAGES																	
	Total Number of Calls												4165.0				
	Total Number of Exceptions												0				
	Average Dispatch Response Time												9.74				
	Average Police Response Time												9.08				
	Average Total Time												18.82				

City of Peoria
 Emergency Communications Center
 Peoria County Sheriff's Department
 Backlog Calls for Service by District

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
January 2015	Number of Calls	6	0	1	1	8	6	6	1	1	2	1		33		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	71.5	0.0	3.0	1.0	10.6	6.2	13.2	43.0	0.0	2.5	1.0		683.2	33	20.7
	Police Response Time	16.3	0.0	0.0	15.0	15.0	10.5	12.7	29.0	6.0	13.5	4.0		438.0	33	13.3
	Total time	87.8	0.0	3.0	16.0	25.6	16.7	25.9	72.0	6.0	16.0	5.0	0.0	1121.2	33	34.0
February 2015	Number of Calls	7	0	1	0	5	10	5	0	2		1		31		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	77.7	0.0	0.0	0.0	6.0	4.9	2.2	0.0	18.5	0.0	2.0		672.9	31	21.7
	Police Response Time	13.4	0.0	0.0	0.0	10.2	10.4	12.3	0.0	15.5	0.0	1.0		342.3	31	11.0
	Total time	91.1	0.0	0.0	0.0	16.2	15.3	14.5	0.0	34.0	0.0	3.0	0.0	1015.2	31	32.7
March 2015	Number of Calls	11	1	6	0	9	6	2	0	0	1	7		43		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	104.2	3.0	43.3	0.0	14.9	3.8	3.0	0.0	0.0	1.0	18.8		1704.5	43	39.6
	Police Response Time	15.7	29.0	0.0	0.0	11.8	5.8	12.0	0.0	0.0	4.0	4.3		400.8	43	9.3
	Total time	119.9	32.0	43.3	0.0	26.7	9.6	15.0	0.0	0.0	5.0	23.1	0.0	2105.3	43	49.0
April 2015	Number of Calls	13	0	3	0	4	9	4	0	2	3	4		42		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	148.0	0.0	31.3	0.0	18.3	5.6	6.5	0.0	9.0	28.7	23.7		2366.4	42	56.3
	Police Response Time	23.7	0.0	13.5	0.0	7.0	9.4	10.3	0.0	2.5	12.0	2.3		552.6	42	13.2
	Total time	171.7	0.0	44.8	0.0	25.3	15.0	16.8	0.0	11.5	40.7	26.0	0.0	2919.0	42	69.5
May 2015	Number of Calls	6	0	2	0	4	12	7	1	0	6	10		48		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	165.5	0.0	3.0	0.0	25.0	17.0	12.0	0.0	0.0	10.7	4.7		1498.2	48	31.2
	Police Response Time	13.3	0.0	9.0	0.0	9.8	8.9	13.3	19.0	0.0	8.8	4.0		448.7	48	9.3
	Total time	178.8	0.0	12.0	0.0	34.8	25.9	25.3	19.0	0.0	19.5	8.7	0.0	1946.9	48	40.6
June 2015	Number of Calls	9	2	3	1	13	9	4	0	1	3	15		60		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	113.0	1.0	8.0	39.0	12.9	18.2	40.0	0.0	8.0	25.0	4.9		1730.0	60	28.8
	Police Response Time	23.2	25.5	0.0	0.0	8.7	8.7	13.5	0.0	4.0	10.0	7.2		647.2	60	10.8
	Total time	136.2	26.5	8.0	39.0	21.6	26.9	53.5	0.0	12.0	35.0	12.1		2377.2	60	39.6
July 2015	Number of Calls	9	0	2	0	9	14	5	1	5	1	8		54		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	226.7	0.0	36.5	0.0	39.8	22.4	27.4	0.0	8.4	5.0	10.3		3051.5	54	56.5
	Police Response Time	14.9	0.0	6.5	0.0	11.7	7.9	24.2	6.0	4.0	9.0	8.4		586.2	54	10.9
	Total time	241.6	0.0	43.0	0.0	51.5	30.3	51.6	6.0	12.4	14.0	18.7		3637.7	54	67.4
YEAR TO DATE TOTALS AND AVERAGES																
	Total Number of Calls												311			
	Total Number of Exceptions												0.0			
	Average Dispatch Response Time												33.93			
	Average Police Response Time												11.11			
	Average Total Time												47.53			

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	YTD Avg.
9-1-1 Call Answer Time (within 5 seconds or less)	98.7%	98.9%	98.5%	97.4%	97.8%	96.8%	98.1%						98.0%
Number 9-1-1 Calls	9,148	7,873	8,902	8,793	10,333	10,257	10,890						9,457
Dispatching Urgent Police Calls (minutes)	1.65	0.99	0.86	0.99	1.29	1.36	1.18						1.19
Dispatching Urgent Fire/EMS Calls (minutes)	0.72	0.53	0.62	0.73	0.71	1.24	0.63						0.74
Concerns	1	3	0	2	3	1	0						1.43
Number of Incoming Telephone Calls	19,341	17,043	19,352	19,772	22,384	23,163	23,490						20,649



SITE PLAN REVIEW BOARD AGENDA

Plans Distributed: August 3, 2015

Comments Due: August 10, 2015

Project ID	Address	Project Type	Project Description
15-184	N Route 91 13-11-200-013 13-11-201-002 13-11-201-003 13-11-202-001 13-11-203-002	PZ Commission - Special Use	Public Hearing on the request of Robert C. Hall for Petersen Companies, LLC and TK1, LLC, to amend an existing Special Use Ordinance No. 15,584, in a Class C-2 (Large Scale Commercial) District for a Shopping Center to reduce the required front yard setback for a parking lot expansion for the properties identified as Parcel Identification Nos. 13-11-200-013 (Address 7618 N. Route 91), 13-11-201-002 (Address 7708 N. Route 91), 13-11-201-003 (Address 7628 N. Route 91), 13-11-201-005 (Address 7716 N. Route 91), 13-11-201-006 (Address N. Route 91, 13-11-202-001 (Address 7810 N. Route 91), 13-11-203-002 (Address N. Route 91), and 13-11-203-003 (Address 7806 N. Route 91), Peoria, IL. (Council District 5) - LA
15-122	3921 TEMP W ALTA LN TRACKING PURPOSES ONLY 08-25-300-028	PZ Commission - Non-Conf Use Change	REVISION - Request for approval of the Final Plat for Summer Ridge Subdivision Ext. One, a residential development identified as part of PIN 08-25-300-036 and generally located at the northwest corner of Alta Road and Radnor Lane. The petitioner is proposing 75 single family residential lots on 23 acres. (Refer to CPC 13-14) - Radnor Rd. / Alta Rd. - Council District 5 - LA

Staff Contacts:

Name	Leah Allison	Jide Giwa	Josh Naven	Kimberly Smith	Shannon Techie
Initials	LA	JG	JN	KS	ST
Phone	494-8667	494-8611	494-8657	494-8612	494-8649
Email	lallison@peoriagov.org	ogiwa@peoriagov.org	jnaven@peoriagov.org	kismith@peoriagov.org	stechie@peoriagov.org



**ZONING BOARD OF APPEALS
THURSDAY, AUGUST 13, 2015
CITY HALL, ROOM 400 – 1:00 P.M.**

AGENDA

- 1. CALL TO ORDER**
- 2. ROLL CALL**
- 3. APPROVAL OF JULY 9, 2015 MINUTES**
- 4. REGULAR BUSINESS**

Deliberations will be held at the end of each case after public comment has been closed. No public comment is allowed during deliberations.

CASE NO.
ZBA 3002
*Continued
from
07/09/2015*

Public Hearing on the request of Robert Hall of Miller, Hall & Triggs, LLC for Leonard Sachs to obtain a variance from the City of Peoria Land Development Code Section 4.1.4., Building Envelope Standards, to reduce the required rear yard setback of a principal structure below the required 25 feet, and to reduce the required side yard setback below the required 4 feet plus one foot for each foot by which the building exceeds 25 feet, and Section 5.4.2, Residential Accessory Structures and Storage Buildings, to reduce the setback from a principal structure to an accessory structure below the required 10 feet, for a treehouse addition to the principal structure, in a Class R-4 (Single-Family Residential) District, for the property located at 1122 W Loucks Avenue (Parcel Identification Nos. 14-32-205-026 & -027), Peoria, IL. (Council District 2).

CASE NO.
ZBA 3005

Petitioner Robert Hall of Miller Hall Robert Hall of Miller, Hall & Triggs, LLC (for Leonard Sachs) is appealing the Zoning Administrator's decision regarding the measurement of distance between a primary and accessory structure and the determination regarding buildable area within a rear yard, in a Class R-4 (Single-Family Residential) District, for the property located at 1122 W Loucks Avenue (Parcel Identification Nos. 14-32-205-026 & -027), Peoria, IL. (Council District 2).

- 5. CITIZENS' OPPORTUNITY TO ADDRESS THE COMMISSION**
- 6. ADJOURNMENT**